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[3] [A]
T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. IR e 9@ ™ PE AT 99 S @ 1. If a previously learned task impedes
FF H qE IA BT %; @ AR a new task, which is being learnt.
1 I8 AR BRT This transfer of learning will be :
(1) GhIHSD (1) Positive Transfer
(2) PRIHSD (2) Negative Transfer
3) LI (3) Zero Transfer
(4) TriHe (4) Primary
2. Frifed # | IT-A wES B 2. Which of the following is not a
T-qiRTes faerT @Y oTaRen TET R 7 stage of Freud's Psycho-Sexual
development ?
(1) qereeen (1) Oral Stage
2) Cﬁ GlshaTeeh STaeT (2) Preoperational Stage
(3) TraeRn (3) Latency Stage
(4) TeTaEn (4) Anal Stage
3. gﬂé?ﬂ B HE-HI ﬂﬂ'{fﬁ GERIE | 3. Which schedule of reinforcement is
ga ® ? most effective ?
(D) =T Srgurd (1) Variable ratio
(2) gad g‘ﬁiﬁl‘[ (2) Continuous reinforcement
(3) R I (3) Fixed-interval
(4) R U (4) Fixed-ratio
Level-1/6101 P.T.O.
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[A]

4. 95 TF % ‘A%l I el gl ol
S ORGSR e MG G D B 0]
2

(1) SUGHR e Bl HH
(2) ST SATHI bl HHI

(3) &7 St & e
(4) M ) SAfgs dreT & g9|

5. ‘QFT P Hepeqwm 4 T D

(1) dffer® =
(2) TEdE E]
(3) Rt 3™
(4) & q PR T

6. =T & ogER Frelrad H @
HIF-9T AR B ThX & 8 7

(1) ToEHIH
(2) Q!
(3) T
(4) TERHTH]

Level-1/6101

[4]

4. The fact that 'fish cannot fly and
owls cannot learn to swim' is an

indication of :

(1) lack of adequate reinforcement
(2) their lack of experience

(3) the laziness of these creatures

(4) the effects of biological limits on
learning

5. The concept of 'Shaping' has been
given by :

(1) Thorndike
(2) Pavlov
(3) Skinner

(4) None of these

6. According to Sheldon which of the

following is mnot the type of

personality ?

(1) Endomorphy
(2) Mesomorphy
(3) Ectomorphy

(4) Esthomorphy
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7. fr=fafea & 9 f9-d @k 9=

B AT [ty 78 ?

(1) g Hre=d

(2) TR

(3) 9= BT

(4) @ fageioeT

. TF [ e R % = # a8
ygfa foret a8 el aRRefd & fw o

Teq W &M &l & AR I GEge i
QU A &, B e o e

(1) G
(2) FHsIBTT

(3) FHwEE
(4) STgHT

. i # § d- ExEa g
a6 B fIET B T Ay ' 7

(1) PECS

(2) s

(3) oW %A

(4) T ¥ FE T

Level-1/6101

[5]

[A]

7. Which of the following is not the

Psychoanalytic Method of personality

measurement ?

(1) Free association
(2) Interview

(3) Word association

(4) Dream analysis

. The tendency of a pre operational

child to focus on one aspect of a
situation, neglecting other aspects
has been termed by Piaget as :

(1) Conservation
(2) Centration
(3) Seriation

(4) Adaptation

. Which of the following is a method

to teach Autistic children ?
(1) PECS

(2) Braille

(3) Taylor Frame

(4) None of these

P.T.O.
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[A]

10.

11.

12.

13.

Frefafead & @ @1 i Jeas &
@ § JIRT & g § 7

(1) ugidn
(2) TH fafpe
(3) 95 3Tl HE

(4) 39 | Fi3 7T

feanfran @ &R ©
(1) =@ & B
(2) gfte A

(3) W Headl &
(4) ATTH SHETHAT BT

frfofeg & @ B 9orm Ao
foepe 1 R A ar ?

(1) T

(2) Pledert

(3) fferm

(4) B fopey | Tl ©

o TR B AT Bl e B ©

(1) FIE T e & R

(2) g4 wfRaTE SR & AR
(3) T HRATH TR B AR
(4) SRS HEFaS STae & QR

Level-1/6101

[6]

10.

11.

12,

13.

Which of the following may act as a
primary reinforcer ?

(1) Praising

(2) A biscuit

(3) Saying very good
(4) None of these

Dysgraphia is a type of :
(1) Locomotor disability
(2) Visual impairment
(3) Mental retardation
(4) Learning disability

Who among the following first gave
the theory of Moral Development ?

(1) Piaget
(2) Kohlberg
(3) Gilligan

(4) No option is correct

The
develops during :

ability of class grouping

(1) Sensory motor Stage
(2) Preoperational Stage
(3) Concrete Operational Stage

(4) Formal Operational Stage
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14.

15.

16.

U% S Fedl & [ HT o
g ¥ gs fefafed # R
Hfsharcs fide & fhe dmr @t
Tohd H W B ?

(1) SATFH=T

(2) TSR

(3) TSt
(4) Sepicrre

oo g R TQ EseE T
e & AgER Fifed § 9 fhd
gikAT # SEe U A H G
A AU AT P FHT FR S 7

T
o
S

(1) SAHETABIT

(2) GHe

(3) AIAHTT

(4) STFeET

Tkl & SIAR Uk el 5 B
Pl AU T A H HEFA d T

H GHAT 8 ITB HUG G FHEdw
2

(1) e faeprE 1 &R
(2) arEdfas famraEs &)
(3) THIY foeprE & &=
(4) |+ T w2t 2

Level-1/6101

[7]

14.

15.

16.

[A]

A child says, "Mumma today the Sun
It indicates which of the
following limitation of preoperational
thought ?

is sad".

(1) Egocentrism
(2) Animism
(3) Idealism
(4) Naturalism

the
Development Theory of Piaget, in

According  to Cognitive

which of the following Process
children either modify or form a new
schema based on new experience ?

(1) Assimilation

(2) Accommodation

(3) Internalization

(4) Conditioning

According to Vygotsky, the upper
limit of tasks that a learner can

the
assistance of a more competent

successfully perform  with

individual is termed as :

(1) Level of Potential Development
(2) Actual Developmental Level
(3) Zone of Proximal Development

(4) All options are correct

P.T.O.
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[A]

17.

18.

19.

20.

fr=ifed & @ B9 Q@ 1T & d9d TS
femdt & @8 ST @ TEEET @
oM ar dhdl 9 ® ?

(1) 9Ras6 I
(2) O
(3) 9

(4) 39 | Fi3 T

wtefeT omemRa © ¢

(1) e rgee & RS 0
(2) b v Srgde & e W
(3) gHEISTh GRS s I
(4) 799 U e & e )

e §30 W I 8

(1) G STfem Risra & g
(2) TR foerE e & g
(3) e o e & forg
(4) A faew fsm & g

aiffes &t Favem e & o ¢
(1) &

(2) s A

(3) R A

(4) Rrme wgs A

Level-1/6101

[8]

17.

18.

19.

20.

Which term refers to extra cues
designed to increase the chances of a
student's providing the correct answer
to a question ?

(1) brainstorming
(2) prompt
(3) suggestions

(4) None of these

Modelling is based on :

(1) Classical Conditioning Theory
(2) Operant Conditioning Theory
(3) Social Cognitive Theory

(4) Trial and Error Theory

Albert Bandura is known for his

theory of :

(1) Social learning

(2) Psycho sexual development
(3) Emotional development

(4) Moral development

Autism was first described by :
(1) Kanner

(2) Down

(3) Skinner

(4) Sigmund Freud
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21,

22,

23.

fr=ifhd & @ @F-"  SOOTES
eFH 1 T TR ?

(1) a™
(2) U89
(3) IAEA
(4)
SBTsMY & olg qRRAfGag dted

IIER T @ Al R, SR W
g8 oM JeTeX B -

(1) g9 & &
(2) =& T @
(3) geq = &

4) 999 T B

Frefafad & & @&9-af F &
G faere s &1 saen 787
g7

(1) Ufshferen ataen

(2) fsparcHe Sraen

(3) aferTeas STaen

(4) GharHs TaeT

Level-1/6101

[9]

21,

22,

23.

[A]

Which of the following is not a

component of Observational Learning ?
(1) Attention

(2) Retention

(3) Production

(4) Preparation

According to the Bronfenbrenner's
Bioecological model, the parents,

siblings of the child are example of :
(1) Micro System

(2) Exo System

(3) Macro System

(4) Chrono System

Which of the following is not the

stage of Bruner's Cognitive

Development Theory ?

(1) Acrylic stage

(2) Enactive stage

(3) Iconic stage

(4) Symbolic stage
P.T.O.
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[A]

24.

25.

26.

UX U Fald & AgER Fried § 4
BI-El TR AEAE gRe B I
¥ i 787 o ?

(1) a9

(2) ST

(3) ysg

4) =

G T fopar T dieel i SAEE
drm & e dsifte gemr @
gite e & 7

(1) sigfee s
(2) T ST
(3) TN AR
(4) et

‘gt q B & 9 ARaws 9 &
ST, Fhee! SugE AR © 7

(1) AR Fadl T ST
(2) % qd Sk st
(3) AR (e

(4) Tensmreen

Level-1/6101

[10]

24.

25.

26.

According to Mayer and Salovey,
which of the following processes is not
an aspect of emotional intelligence ?

(1) Understanding
(2) Perception
(3) Management

(4) Construction

Kohler's

supports which theoretical view of

research  with  Sultan

learning ?

(1) Insight learning
(2) Latent learning
(3) Place learning

(4) Modeling

'Out of sight Out of mind', best
describes :

(1) Early sensory motor stage
(2) Early preoperational stage
(3) Early adolescence

(4) Adolescence
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27.

28.

29.

30.

Fr=Tifhd & | fpeepT STe9gd HAIGS
ud e ae & giowse g W
Reg & ?

(1) FHRIHE FAINGT
(2) SAEREE ARG
(3) TS AR
(4) T weifeET

WHIeST P HhodHT & T R

(1) diverE® ar
DR ENER
(3) dEIcEh &R
(4) X a

‘Th SRl b SHD Ol @ U
MY P S T el § ¢

(1) g 3t

(2) ey U™

(3) e 23

(4) A 4

frem Rigel & aiaes & ‘@l &
qHET or ?

(2) e

(4) arcE

(1) §9 ik
(3) RS

[11]

27.

28.

29.

30.

[A]

The study of which of the following
lies at the intersection of psychology

and pedagogy ?

(1) Positive psychology

(2) Industrial psychology

(3) Organizational psychology

(4) Educational psychology

The concept of 'Scaffolding' has
been given by :

(1) Thorndike

(2) Pavlov

(3) Vygotsky

(4) Skinner

"The attraction of a girl child towards
her father' was termed by Freud as :
(1) Electra Complex

(2) Oedipus Complex

(3) Moral Conflict

(4) Oral Complex

Who believed that infant's brain is
like a "Tabula Rasa' ?

(1) John Locke (2) Darwin

(3) Spinoza (4) Watson

Level-1/6101

P.T.O.



[A]

ART— 11/ PART - I
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &= / HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. ‘EN-gA & # H-91 T § 7 35. & a9 T

(1) STediE T (1) ¥ R T e

(2) &g g™ (2) I T &F H|

3) TYEY U™

) (3) B9 AR °¥ & e HIAT =y

(4) HHIRT THH

(4) T& 99 TF THR FHET B

32. a9 i gite | o1& g ¢ . .

() Fifts - R 36. ‘A = H UPEHI TE ©

) Fsdiep - IR () I 2) 3

(3) TETEG - TS ORE 4)

“4) - L.

T - P 37. e, e 39 R ¥ 7

33. UGN HREHIH aH FHT (1) grgEH

(1) 9= §8¢ § = & (2) RTIEEh

2) ¥ T o @t "o Fm (3) TR

(3) Hfea sitEl | s B @

(4) 98 |9 A § A @) &R e 38. ‘Yed W= ¥ WY H bR S :

T ,
(1) gra |

34, ‘W & H -4 ST IS © 7 (2) & Gy

(1) oM (2) o (3) T Gy

(3) &3 (4) &ga (4) 79 Hi

Level-1/6101




39.

40.

41,

42,

fPe s ¥ ‘ST U H AN 98
T & & ?

(1) e
(2) ARE
(3) TEH
(4) gaw=

Heegae qaH Ug Bifey
(1) FB

(2) s

(3) TebemT

(4) e

fre faeq § e sgaeeT 9= 78
g7

(1) g
(2) A=A
(3) A&d
(4) T

LICEICEACE Il
(1) g9

(2) faumges

(3) FaH

(4) I

[13]

43.

44,

45.

[A]

PA-A1 TE TEEY B WA 7ET
g7

() g&Em

(2) gaet

(3) gTHES
(4) ST

L 71 I T 0| I
it s H Uge R gieu

(1) ST feba
(2) " B

(3) g fohar
(4) THH® fopar

fgQIee gg giWu -
(1) Ugqd

(2) RS

(3) TereTEt

(4) 3

Level-1/6101

P.T.O.
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[A]

[14]

[ 3135ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct spelling of the

47.

48.

given word :
(1) vacumm
(2) vacuum
(3) vacume

(4) vaccum

(1) do, got
(2) are, get
(3) does, get

4) did, get

The comparative form of 'useful’ is :

(1) Usefuller
(2) Usefuler
(3) The most useful

(4) More useful

Level-1/6101

49. Choose the part of the sentence that

18 incorrect :

We've seen Leela in town the other

day.

(1) We've seen
(2) Leela

(3) in town

(4) the other day

50. A Kennel is a place where :
(1) Horses are kept
(2) Dogs are kept
(3) Pigs are kept

(4) Cats are kept

51. Shivaji was a great King.
The underlined words are :
(1) Nouns
(2) Pronouns
(3) Interjections

(4) Adjectives
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52. Choose the correct option to fill the
blank :

......... dog is a faithful animal.
(1) An

2) A

(3) The

(4) Some

53. The word which is rnot a synonym of

'Foe' is :

(1) Enemy
(2) Opponent
(3) Friend

(4) Adversary

54. One word for 'that is sure to happen'

1S :

(1) Inevitable
(2) Oblivious
(3) Illusion
(4) Relevant

Level-1/6101

[15]

55.

56.

57.

[A]

He was fined ....... parking his

car ..... a no-parking area.
(1) about, at

(2) for, in

(3) from, in

(4) in, at

He came late.
'Late' here is :

(1) An Adjective
(2) An Adverb
(3) A Conjunction

(4) A Noun

The synonym of 'cold' is :
(1) hot

(2) rainy

(3) pleasant

(4) chilly

Download from www.MsEducationTv.com
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[A] [16]

58. That is your house. 60. Match the following :

(A) Dogs (i) mew
The underlined word is :

(B) Cows (i1) neigh
(1) Noun (C) Cats (iii) croak

(D) Frogs (iv) bark
(2) Pronoun

(E) Horses (v) moo
(3) Preposition (1) A-ii, B-iv, C-v, D-i, E-iii

(2) A-iv, B-v, C-i, D-iii, E-ii
(4) Adverb N e
(3) A-ii, B-iv, C-v, D-iii, E-1

(4) A-v, B-iii, C-iv, D-ii, E-i
59. Choose the grammatically correct
sentence :
(1) Shachi goes abroad last year.

(2) Shachi will go abroad last year.

(3) Shachi will be going abroad next

year.

(4) Shachi will be go abroad next

year.

Level-1/6101
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[A]

HET -1/ PART -1l
qH Ae9g / GENERAL STUDIES

[ A ARG, dliche SARTECT R | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rt g7 % a7 7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

62.

63.

64.

67 ,
9 A T &

68 23

(1) 11 (2) 11

20 34

3) 1 4) 11

44(x* - 5x° - 24x%) | 11x (x - 8) &
A T

(1) 4x (x—8)
(3) 4x (x—3)
¢ 11 HieX F9ST 3T 100 & Gdar ™0

o 10 Hex T 110 &1 & 9 =1, @
e ufged © ¢

(2) 4x (x+8)
4) 4x (x+3)

(1) 12% 2) 17%

(3) 19% 4) 21%

(ka2 | N e ) R R O | o
I

1,4,10,22,46 ......... .
(1) 70 2) 86
(3) 94 4) 122

Level-1/6101

61.

62.

63.

64.

Square root of 96—7 is
121

68 23
(D 11 2) 11
20 34
3) T 4) 11

Divide 44(x* — 5x° — 24x%) by
11x (x-8) :

(1) 4x (x-28)
(3) 4x (x-3)

(2) 4x (x+8)
4) 4x (x+3)

If 11 metres cloth is purchased for
T100 and is sold at the rate of
10 metres for ¥ 110, then the profit

percentage is :
(1) 12% (2) 17%

(3) 19% 4) 21%

Find the next term of the following
number series :

1,4,10,22,46 ........ .
(1) 70 (2) 86
(3) 94 4) 122

P.T.O.



[A]

65.

66.

67.

% 12,000 T 10% e =spgha ==
qﬁﬁﬁl%m‘ﬁﬁrﬁrﬂﬁrw

W ? e whgRE B O
rdaiie =

(1) 13,891.50
(2) 19,831.50
(3) ¥31,918.50
4) % 13,230.50

T 999 § 24 TR T 2 TS
T @) Broer 28 A qen e 4 |
2 T 25 oy A @ W A e w
% PHHR TSI W T & B FA
ARG ST HiTT

(1) T 2424
(2) T 4242
(3) T 4224

(4) T 4424

Ty, e, e R 9N @ A,
Ty Ve q 987 & AR faeE TS
3R e ¥ Bl B AW TGN 9 S
¥ g1 3, O 38 B TG99 Bler § 7

(1) 7Y
3) fa@™

(2) A&A
4) T

Level-1/6101

65.

66.

67.

What total amount is to be paid on a
sum of ¥ 12,000 for 1 % years at

10% per annum compounded half
yearly ?

(1) 13,891.50
(2) 19,831.50
(3) T31,918.50
(4) % 13,230.50

In a building, there are 24 cylindrical
pillars. The radius of each pillar is
28 cm and height is 4 m. Find the
total cost of painting the curved
surface area of all pillars at the rate
of T 25 perm” :

(1) T 2424
(2) T 4242
(3) T 4224

(4) T 4424

Among Manish, Rohan, Vikas and
Naveen, Manish is older than Rohan
and Vikas is younger than Naveen
and Rohan. Manish is older than

Naveen. Who among them is the

youngest ?
(1) Manish (2) Rohan
(3) Vikas (4) Naveen

Download from www.MsEducationTv.com



68.

69.

70.

71.

Ra w =& & gl o d
FARYT FHIFTT

1. J&% 2. @Sl 3. S 4. B

5. g

(1) 2,3,5,1,4
(2) 3,2,4,5,1
(3) 3,5,2,4,1
4) 3,2,5,4,1

Th J69 il AN A &d
THAE T B HE 36 6w
YR T 8 7

(1) Hrar

(2) T

(3) =&

4) G

T T den §a i R @
g 7 /3 ot R

(1) 40

2) 60

3) 80

4) 100

i 264 * 2 =6, 870 * 3 = 11, @
735 %5=2

(1) 16
2) 12
(3) 5
“4) 3

Level-1/6101

[19]

68.

69.

70.

71.

[A]

Arrange
meaningful sequence :

1. Book 2. Timber 3. Jungle 4. Paper
5. Pulp

(1) 2,3,5, 1,4

(2) 3,2,4,5,1

(3) 3,5,2,4,1

“4) 3,2,5,4,1

the given words in a

Pointing to a man, a woman said,
"His mother is the only daughter of
my mother." How is the woman
related to the man ?

(1) Mother

(2) Grandmother

(3) Sister

(4) Daughter

Find a number, such that one-fourth
of the number is 3 more than 7 :

(1) 40

(2) 60

(3) 80

(4) 100

If 264 = 2 =6, 870 = 3 = 11, then
735%5="7

(1) 16

2) 12

3) 5

4 3

P.T.O.
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[A]

72.

73.

74.

5 1 A e qgd 70 |
T T 45 F AR ARABR AW &
%% 9 Ol & qd M AR &
T 81 % 100 uR W @ &«
Teh 1M & ANE A HiOW

(1) ¥57,750
(2) 55,500
(3) 55,000
(4) 50,500

% AFERE § YWET 1 30000000
feam 81 AFfes & &1 eX 4 AW Q@
W B I AH qEEE g0 A
oY

(1) 12 x 10*
(2) 12 x 10° feft
(3) 12 x 10°
(4) 12 x 10" fet

U e &9 3 T ad # 4 S
ol & GHEd H 39 99 6 G Sl
gfaer g T § ?

(1) 25%
(2) 33%
(3) 50%

(4) 66%

Level-1/6101

72.

73.

74.

Two cross roads, each of width 5 m,
run at right angles through the centre
of a rectangular park of length 70 m
and breadth 45 m and parallel to its
sides. Find the cost of constructing
the roads at the rate of ¥ 100 per m” :

(1) ¥57,750
(2) 55,500
(3) 55,000

(4) ¥50,500

The scale of a map is given as
1 : 30000000. Two cities are 4 cm
apart on the map. Find the actual
distance between them :

(1) 12x 10’ km
(2) 12 % 10° km
(3) 12x10° km

(4) 12x 10" km

A school team wins 6 games this
year against 4 games won last year.
What is the percent increase ?

(1) 25%
(2) 33%
3) 50%

4) 66%

Download from www.MsEducationTv.com



75.

76.

77.

78.

e uh FWiREd HE 9w §, 'MIND'
# 'KGLB' fmr smar ® &R
'ARGUE' @l 'YPESC' fi@n s ®,
dl g4l G4 H< 9T § 'DIAGRAM'
I foren sam ¢
(1) BGYEYPK
(2) BGYEPYK
(3) GLPEYKB

(4) BGEPYLK

d R If d A e iR
3R 1 % uhew weg § Reg B 7

BE6DAU&3TIQ89C#2M
%2 U1MWT75J8L

2) C
4) 2

() 9
3) #
ST N ST I
(1) ¥

2) w§

(3) S

(4) AT

Level-1/6101

[21]

75.

76.

77.

78.

[A]

If in a certain code language, 'MIND'
is written as 'KGLB' and 'ARGUE!' is
written as "YPESC', then
'DIAGRAM' will be written in same
code as :

(1) BGYEYPK

(2) BGYEPYK

(3) GLPEYKB

(4) BGEPYLK

Which of the following letter is
exactly in the middle of 3 and 1 in
the given series ?

BE6DAU&3TIQ89C#2M
%U1IMW75]8L

2) C

4) 2

(9

3) #

Find the odd one :
(1) January

(2) May

(3) July

(4) November

You go South then turn right, then
turn right again and then go to the
left, in which direction are you now ?

(1) West
(2) South
(3) East

(4) North

P.T.O.
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[A]

79.

80.

81.

82.

83.

A P -
6+-[6+6+-{6+6+(6+6+12)}]

101 90
(1)-32; () 03

90 72
3) 130 “4) Y
1 oaot Aoft @1 oFEr wE S
I

DEF, HIJ, MNO, .........

(1) RTV (2) STU
(3) RST (4) SRQ
2019 ¥ 9~ §U foumEe IoE q
(0| M| s oo O R [~ L
AT G ot ¢
(1) 18 @/ g (2) 25 @@
(3) 28 A (4) 30 @

fra ad sfaren famas # srfeas
% GEA190 H TE 7

(1) 1967 (2) 1971
(3) 1977
Fr=ifed & & P-91 999 Bl a9
AR & 7

(1) Tescrfeset

(2) @i E-d=

(3) R farreTe

4) guE™

(4) 1985

Level-1/6101

[22]

79.

80.

81.

82.

83.

Simplify :

6+-[6+6+-{6+6+(6+6+12)}]
101 90

1) — 2) —

) 15 ) 103
90 72

3) — 4) —

) 130 X 13

Find the next term of the following
letter series :

DEF, HIJ, MNO, .........
(1) RTV (2) STU
(3) RST (4) SRQ

Maximum expenditure limit for a
Candidate in assembly election,
which was held in 2019 :

(1) 18 Lakh (2) 25 Lakh

(3) 28 Lakh  (4) 30 Lakh

In which year the strength of Haryana

Assembly was raised to 90 ?
(1) 1967 (2) 1971

(3) 1977 (4) 1985

Out of the following, which is the
smallest Wild Life Sanctuary ?

(1) Chhilchhila
(2) Khol Hi-Raitan
(3) Bir Shikargarh
(4) Khaparwas

Download from www.MsEducationTv.com



84.

85.

86.

87.

g%ﬁ@ﬁmaﬁ?ﬁm@aﬁmﬁaﬁ
¥ 7

(1) H=i

(2) FEE

(3) THiier

(4) BN
Freifafad & & @9-41 & @@ gH
7e7 e ?

(1) YrTgs AT - Foee

(2) THEHT el - UM

(3) foeTaR e - e

(4) 93T i - HUEER

BRI % 59 Y 9 gtaq & 7

(1) IRTHTE
(2) =T
(3)
(4) BHET

g @ fefofeg § @ @9-an
o oo | fhel o9 o9 & 91
TR 787 e ?

(1) ToIm

(2) TAad
(3) &

(4) =Gl =

Level-1/6101

[23]

84.

85.

86.

87.

[A]
Ms. Sonia Lather is associated with
which of the following sports ?
(1) Wrestling
(2) Kabaddi
(3) Athletics
(4) Boxing
Which one of the following pairs is
not correctly matched ?
(1) Surajkund Lake — Kurukshetra
(2) Damdama Lake — Gurugram
(3) Tilyaar Lake — Rohtak
(4) Badkhal Lake — Faridabad

Freedom fighter 'Nawab Ahmed Ali
Khan' was belong to which city of
Haryana ?

(1) Ballabhgarh
(2) Jhajjar
(3) Rania
(4) Farrukhnagar

Which of the following districts of
Haryana does not share its boundary
with any other state of India ?

(1) Gurugram
(2) Palwal

(3) Jind

(4) Charkhi Dadri

P.T.O.
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[A]

88. ERAMT & WaFlied B WY fad TN

89.

90.

% 95 g 3 & 7

(1) Sfo AHT STUATA

(2) Ul I

(3) lo {Ha= Ta

(4) foprE e

‘AREY ST JoMT & ©

(1) efgmm  @&R g’ ges
Hifcranie AR

(2) STERTHE W H T T AR S
Tl IUT HAT ST Al

(3) B FM B il
REISRCICICRREEIS RG]

4) & WE AT Wi, S %
HE8 7 WG & T W@ B

AT qRER-2020 & fQ eRamm

% ffafad & & fra ofees @ g
TR 7

(1) faere =i
(2) WEER HNTE
(3) THER e e
(4) =T FAR Eel

[24]

88.

89.

90.

Who is the Member Secretary of the
newly constituted sixth state Finance
Commission of Haryana ?

(1) Dr. Amit Agarwal

(2) Pankaj Yadav

(3) P. Raghavendra Rao

(4) Vikas Gupta

'Manohar Jyoti' Scheme is related to :

(1) Free cataract surgery by the
Haryana government.

(2) Providing a small solar system
to needy households.

(3) Free boarding school for girls of
weaker sections.

(4) A permanent fire flame, which is
being installed at Kurukshetra.

Which of the following coaches of
Haryana 1s selected for Dronacharya
Award-2020 ?

(1) Vikas Malik
(2) Mahavir Phogat
(3) Rambir Singh Khokhar

(4) Krishna Kumar Hooda

Level-1/6101
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[25]

[A]

qF - IV / PART = IV
TG / MATHEMATICS

3T - Rt g7 % a7 &7 & [ qeag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

T% qHR AeM 50 Hiex T8 & g,
D oY IR oY 6 HieX &H AF
S B © AR W 30 T AR
e & W 4 a1 el STqaE B A
21T :

(1) 75000 &9
(2) 58080 &9
(3) 31680 &
(4) 1080 &9

I & YAF qoT H = A 20% B
g &E W b FF%A 7 e
gfcerd gfs &Rl ?

(1) 44%
(3) 20%

(2) 40%
4) 22%

o1.

92.

A 6 meter wide pathway has been
constructed along the periphery and
inside of a square field of length
50 meter. The total expenditure to
cover this pathway with red sand at
the rate of Rs. 30 per square meter, is :

(1) Rs. 75000
(2) Rs. 58080
(3) Rs. 31680
(4) Rs. 1080

On increasing the length of each side
of a square by 20%, the percentage
increase in its area 1s :

(1) 44% (2) 40%
(3) 20% 4) 22%

% %@ 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101

P.T.O.



[A]

93.

94.

He9 Bl 9 e © ¢

(1) 0

2 1

3) 2

(4) 3

AMAR A arel Wegpd denel |

e Ul i Wiegd Gestt B anT
g, @ oiftm 9= dewet @ am

gz e

(1) 45

(2) 52

(3) 56

(4) 55

[26]

93.

94.

Least prime number is :

(1o

21

3) 2

“ 3

If the sum of first three natural
numbers from a group of six
consecutive natural numbers is 36,
then the sum of last three natural
numbers will be :

(1) 45
(2) 52
(3) 56

(4) 55

% %4 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101

Download from www.MsEducationTv.com



[27] [A]
95. 1 ¥ @ M-, ormeEw @ 95. Which of the following is most
AMY®s F9 & TEe % U gaie appropriate to assess a learner's
UG B 7 current knowledge ?
(1) SUARIHS (2) HbHSD (1) Remedial (2) Summative
(3) FeM@E®  (4) g9 ERES (3) Diagnostic (4) Affective
96. Jfg (125)x = 3125 &, a x @ 99 96. If (125)x = 3125, then the value of x
2 is :
3 3
1) = 2) 3 1) = 2) 3
(1) 5 (2) (1) 5 (2)
3 5 3 5
3) = 4) = 3) = 4) =
(3) 5 4) 3 3 5 4) 3
97. 234 9 g7. Least common multiple  of
222, & qgH gEvEd ©
3’57713 23429 .
3’5713
20 18 20 18
) — 2) — (1 — 2) —
O @ =
(3) 42 (4) 36 (3) 42 (4) 36
W 34 % RT TR/SPACE FOR ROUGH WORK
Level-1/6101 P.T.O.
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[A]

98.

99.

frer & 9§ ®9-a1 FoF/foe Tad
g7

(1) geFich Trel qrg@shd FHfer &
T Hag H B
(2) JAHT e BEA Bl B

(3) T frero-aAfer e gk H
s TFEd Y& Y B

(4) It I GBRAT dad fqugaE]
T HiEd el sl

14 el & it & o 71 o
W Sd FW W T T
BE & Ui® 56 H ™ 42 IR
TR F 32 H E 74 Fme A W
g, el ofled & ¢

(1) 69 2) 71

(3) 74 (4) 68

[28]

98.

99.

Which of the following statements is

wrong ?

(1) Evaluation helps in developing

effective curriculum.
(2) Evaluation is objective centred.

(3) Evaluation provides intelligent

guidance in teaching-learning

process.

(4) Evaluation process 1is only

subject-centered.

The average of marks of fourteen
students was 71. After checking it came
to notice that the marks of a student
were entered 42 instead of 56 and
marks of another student were entered

74 instead of 32, the correct average is :
(1) 69 2) 71

(3) 74 4) 68

% %4 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101



100. T% B9 15 Hiex &&=, 10 Wex AT

101.

Td 3 WX TEU Bl I IR AR
g UT &l AT X B FF 24 TW
g ot diex @ & F B

(1) 9600 &F*
(2) 4800 TR
(3) 3600 TR
(4) 7200 TR

T% B fasbdl 5 750 B9 @ X 9
A U W I I 9 TH U W
25% W9 9 gEd W 25% B gl
zq Ak § fham ufoad e oferar s

&

(1) 5% @4

(2) 9 &9 7 Bl
(3) 6.25% =
(4) 6.25% @I

[29]

[A]

100. A water tank is 15 meter long,

101.

10 meter wide and 3 meter deep. The
total cost to repair its four walls and
bottom at the rate of 24 rupees per
square meter is :

(1) Rs. 9600
(2) Rs. 4800
(3) Rs. 3600
(4) Rs. 7200

A fruit vendor sells two boxes of
mango at the rate of Rs. 750 each.
He earns 25% profit on one box and
suffers a loss of 25% on another box.
In this business what is his loss or
profit percent ?

(1) 5% profit

(2) Neither profit nor loss
(3) 6.25% profit

(4) 6.25% loss

% %@ 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101

P.T.O.
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102. I x—i:4 g, )&—% N AN 102. If x—§=4 , then the value of
¢ x3 —% is:
(1) 60 (1) 60
2) 76 @) 76
3) 64 3) 64
4 72 4) 72
103. TRIT & Wl R 103. Nature of Mathematics is :
(1) g (1) Abstruct
(2) STdTiDhD (2) Tllogical
(3) efafrse (3) Non-specific
(4) TFaRgd (4) Un-arranged

% %4 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101
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104.m@%maza%gga%3§

g o H/ W HE T A
g T ?

(1) 30 fiFe
(2) 45 fFe
(3) 15 fame

4) 20 fFe

105. 3l 37 =81 @ 577 = 625 @, a
x,ywqﬁ%:

() x=5,y=1
2) x=2,y=0
3) x=3,y=1

4) x=4,y=0

[31]

[A]

104. How much time does the minute
hand of a watch take to describe an

105.

angle of %t radian ?

(1) 30 minutes
(2) 45 minutes
(3) 15 minutes

(4) 20 minutes

If3 7 =81 and 5 = 625, then the

value of x and y are :
(1) x=5,y=1
2) x=2,y=0
3) x=3,y=1

4) x=4,y=0

% %@ 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101
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[A]

106.

AT TH quag HYe

ol TS
6 A B, o TP S B ¢

(1) 3+/3 a9
(2) 9+/3 9
(3) 3o

(4) 5-/3 &

107. 3 fRel B9[Sl § AB = AC @1 £B,

ZAH A T, A LC & AW BT
(1) 36°
(2) 72°
(3) 60°

(4) 48°

[32]

106.

107.

If the length of a side of an
equilateral triangle is 6 cm, then its
height is :

(1) 3+/3 cm
(2) 943 cm
3) 3cm

(4) 5+/3 cm

In a triangle, if AB = AC and £B is
double of ZA, then the value of ZC
1S :

(1) 36°
(2) 72°
(3) 60°

(4) 48°

% %4 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101
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[33] [A]

108. 364, 455 1 foha wfaed & ? 108. 364 is what percentage of 455 ?
(1) 75% (1) 75%
(2) 60% (2) 60%
(3) 80% (3) 80%
(4) 58% (4) 58%

109. SETE 20x° — Ox + I @1 5x° — 6x + 1 109. The H.CF. of the polynomials
% qeaH GH9Ea® (H.C.F.) & 20x"— 9x + 1 and 5x" — 6x + 1, is :
(1) x-1 (1) x-1
(2) 5x-1 (2) 5x-1
3) 4x—1 3) 4x—1
4) Sx+1 4) Sx+1

% %@ 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101 P.T.O.
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[A]

110. IR TH GHIEYS & Tedch FAHIT FH
qM 175° &, @ el H FE B

(1) 54
(2) 72
(3) 60

4) 15

111,  3fH & TF &1 | IHE A SiH
@R b AP W AN ol AR dEr |
27 Siig 3, O 3l H WM M9H H
e 1T 81 98 Hem ¥
(1) 24
Q) 12
(3) 36

4) 48

[34]

110. If each interior angle of a regular

111.

polygon is 175°, then the number of

sides are :
(1) 54
2) 72
(3) 60

4) 15

In a two digit number the unit's digit
is twice the ten's digit. If 27 is added
to the number, the digits interchange
their places, the number is :

(1) 24
2) 12
(3) 36

(4) 48

% %4 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101
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112.

113.

‘e 9 daq E@9F © 9] TR H
Tfes™ # TA aEs off 317 9
H fohae B 7

(1) st
(2) &
(3) Frdfse
(4) S

Ik T BEEE § 40
R & sl arel B,
T 75 aeElt fea it
grlr ?

(1) 20 &=
(2) 24 &=
(3) 18 &=
4) 15 &F

[35]

112.

113.

[A]

"This is not only possible but also it
is necessary to apply Mathematics
on Psychology." This statement is
given by :

(1) Marshal

(2) Herbert

(3) Kilpatrik

(4) Ballard

If in a hostel there is sufficient food
for 30 days for 40 students, then this
food will last for how many days for
60 students ?

(1) 20 days
(2) 24 days
(3) 18 days

(4) 15 days

% %@ 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101

P.T.O.
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[A] [36]

114. U {qaelt H 5 g B g q Tom 114. A student was asked to multiply a
O B PHEl T IO 3@ d= A certain number by % but he divided
% H A BT A W IET A I the number by % In this process he
el ST § 55 e o, o wE ST got the answer 55 more than the
g actual answer. The actual answer is :
(1) 18 (D) 18
(2) 24 (2) 24
39 3) 9
4 27 4) 27

115, 3(x + 2)* + 5(x + 2) + 2, & [FEUS 115.  The factors of 3(x + 2)” + 5(x +2) + 2
g are :
(1) Bx+5)(x+2) (1) Bx+5)(x+2)
2) Bx+8) (x+3) (2) Bx+8)(x+3)
3) Bx+8) (x+5) 3) Bx+8)(x+5)
4 Gx+1)(x+2) 4 Gx+1)(x+2)

% %4 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101
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[37] [A]

116. U9 T 99 H JG9H g pHT: 34 116. The present age of Ram and Shyam
a¥ @ 14 a¥ &, fham af usema W™ is 34 years and 14 years respectively.
%l &g qH %l g B ?fﬁ'{ﬁ[ & After how many years Ram's age
SRef ? will be double of the Shyam's age ?
(1) 499 (1) 4 years
(2) 5 (2) 5 years
3) 6a¥ (3) 6 years
(4) 8ad (4) 8 years

117. fr=ifefaq offest @ wifeaesr & - 117. The median of the following data :
25, 34, 31, 23, 22, 26, 35, 28, 20, 32 25, 34, 31, 23, 22, 26, 35, 28, 20, 32
(1) 27 (2) 28 (1) 27 (2) 28
(3) 26 4) 25 (3) 26 4) 25

118. 1/0.000576 % 7 ¥ : 118. The value of +/0.000576 is :
(1) 0.012 (2) 0.024 (1) 0.012 (2) 0.024
(3) 0.24 (4) 0.0024 (3) 0.24 (4) 0.0024

% %@ 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101 P.T.O.
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[A]

119.

120.

afs R TraRer I @ i &X 9
BE a7 4 98 § 1237.50 T AR 6
af & 144375 TQ@ & @ 2, A
T ©

(1) 860.50 55

(2) 870 &9

(3) 825 &

(4) 3Te Tuarg 2

5 17 7 1

35 T 5173 s
228 5 2
9" 5 7 3

(1) 4

)5

(3) 3

“4) 2

[38]

119. If a

120.

certain sum  becomes

Rs. 1237.50 in four years with some
annual rate of simple interest and it
becomes Rs. 1443.75 in six years,
then the principal amount is :

(1) Rs. 860.50
(2) Rs. 870
(3) Rs. 825

(4) Data are insufficient

5 17 7 1
35 %575
The value of 58 5 is :
“x fi_f
9 5 7 3
(1) 4
25
3) 3
4) 2

% %4 3 T SFE/SPACE FOR ROUGH WORK

Level-1/6101
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[39]

[A]

-V /PART -V
UgiaXT 37599+ / ENVIRONMENTAL STUDIES

3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

121.

122.

123.

iRl & HeheRa St 9 ¥ ¢
(1) o 1= SiEt & e Eaes 2
(2) o fafdre &= § aef S B

(3) Foa! e &1 & ' R
(4) Fvs g N &1 Taq 3l

gedl X AW 9REd 8 @ e 39
T T ST & & -

(1) 9ot &1 o7& P g ol
2) af & gt & aReBAT Y T

2l

G)ad ¥ g & I fg R
fesmett & 2

(4)gﬁfﬁﬁqaﬁgﬁ%m—d@?ﬁ
[

e By, # IuRed o1g B :
ORIER

(2) B

(3) FiiRrEA

(4) el

Level-1/6101

121.

122.

123.

The endangered species of animals
are those :

(1) which are dangerous to other
species.

(2) which are found in specific areas.
(3) whose population has declined.

(4) which are in danger of extinction.

The occurrence of Season on earth is
due to the fact that :

(1) The earth's axis is tilted.

(2) The rotation rate of earth
changes during the year.

(3) The earth's axis points in
different directions during the
year.

(4) The earth is closer to the sun
during summers.

The metal present in vitamin By, is :
(1) Sodium

(2) Cobalt

(3) Magnesium

(4) Iron

P.T.O.
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124.

125.

126.

127.

The main constituent of Biogas and
CNGis:

(1) Propane

(2) Hydrogen Sulphide
(3) Methane

(4) Ethane

Which of the following is not a
byproduct of petroleum ?

(1) Coke

(2) Bitumen

(3) Lubricating oil
(4) Paraffin wax

Which one of the following
statements is frue about a Biosphere
Reserve ?

(1) There are no other protected
areas within its limits.

(2) It is a protected area where only
endemic species live.

(3) It is meant only for the
conservation of Plants and
Animals.

(4) It is meant to conserve both the
biodiversity and culture of that
area.

Energy flow in ecosystem is :

(1) Tetra directional

(2) Tri directional

(3) Bidirectional

(4) Uni directional
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128.

129.

130.

131.

[A]

The following is true about ozone :

(A) It 1s essential for respiration of
animals and plants.

(B) It absorbs ultraviolet rays.

(C) Its percentage in air is almost
3%.

(D) It is used to disinfect water.

(I) A,BandC (2) Band D

(3) Only B (4) Aand D

In 'global warming' the temperature
of :

(1) Troposphere increase

(2) Ionosphere increase

(3) Mesosphere increase

(4) Stratosphere increase

Tsangpo river of Tibet is known in
India as :

(1) Ganga (2) Yamuna

(3) Brahmaputra (4) Indus

Correct group of diseases caused by
water pollution is :

(1) Cholera, Dysentery, Polio,
Typhoid

(2) Cholera, Jaundice, Typhoid,
Anaemia

(3) Anaemia, Scurvy, Emphysema,
Typhoid

(4) Cholera,
Scurvy

Jaundice, Typhoid,
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132.

133.

134.

135.

Select the food chain found in forest
Ecosystem :

(1) Phytoplanktons — Water fleas
— Small fish — Tuna

(2) Grass — Grasshopper — Frog
— Snake — Hawk

(3) Leaf litter —>Algae — Crabs —
Small carnivorous fish — Large
carnivorous fish

(4) Dead organic matter — Fungi —
Bacteria

One of the following processes is not
a step involved in the water cycle
operating in nature :

(1) Evaporation
(2) Transpiration
(3) Precipitation
(4) Photosynthesis

Which plant is
biodiesel ?

cultivated for

(1) Soyabean
(2) Groundnut
(3) Jatropha

(4) Sunflower

The most abundant element found in
the earth's crust is :

(1) Carbon
(2) Nitrogen
(3) Oxygen
(4) Silicon
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136.

137.

138.

139.

[A]
Which of the following statements is
not correct ?

(1) Forests protect the soil from
erosion.

(2) Plants and Animals in a forest
are dependent on one another.

(3) Forests do not influence the
climate and water cycle.

(4) Soil help forests to grow and
regenerate.

The theme of World Environment

Day 2019 was :

(1) Beat Water pollution

(2) Beat Sound pollution

(3) Beat Air pollution

(4) Soil conservation

A set of non-conventional sources of
energy out of the following is :

(1) Mineral oil, natural gas, coal
(2) Coal, wind energy, bio gas

(3) Solar energy,
wind energy

atomic energy,

(4) Geo-thermal energy, natural gas,
petroleum

Which of the following is one of
four biodiversity hot spots of India ?
(1) Aravali hills

(2) Khasi hills

(3) Himalaya

(4) Vindhyachal hills
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141.

142.

143.

When did the Government of India

implemented the Wildlife Protection
Act ?

(1) 1982
(2) 1974
3) 1972
(4) 1981

Which is not a correct match ?

Type of Cloth State
(1) Firan Jammu & Kashmir
(2) Pano-Bhaju = West Bengal
(3) Rahide Himachal Pradesh
(4) Phulkari Punjab

Moon eclipse occurs, when :

(1) Earth is between Sun and Moon.
(2) Moon is between Earth and Sun.
(3) Sun between Earth and Moon.
(4) Earth, Sun and Moon are in a

straight line.

The term used for the conservation
of ecosystem and natural habitat and
the maintenance and recovery of
viable population of species in their
natural surroundings is :

(1) Core conservation
(2) Peripheral conservation
(3) Ex situ conservation

(4) In situ conservation
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146.

147.

[A]

Find the reason why Vultures were

usually seen until a few years ago

but now a days the Vultures are
rarely seen :

(1) Destruction of their place of
residence by new migrant
species

(2) Drugs used by Animal farmer
for treat sick animals

(3) Food shortage of Vultures

(4) Spread of epidemic in Vultures

Which of the following activities is
responsible for the destruction of
forests ?

(A) Mining of minerals

(B) Weaving baskets from bamboo
(C) Construction of dam

(D) Making plates from leaves

(E) Prepare land for agriculture

(1) Only A (2) B,Dand E

(3) A,CandE (4) B,Dand A

The three R's which can help us to
conserve natural resources for long
term use are :

(1) Recycle, Regenerate, Reuse
(2) Reduce, Regenerate, Reuse

(3) Reduce, Reuse, Redistribute
(4) Reduce, Recycle, Reuse

When 'India Water Week' 2019 was
celebrated ?

(1) 15 January to 21 January

(2) 22 March to 26 March

(3) 2 October to 8 October

(4) 24 September to 28 September
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148.

149.

150.

The phenomenon of marble cancer is
due to :

(1) Soot particles

(2) Acid rain

(3) CFCs

(4) Fog

Match List-1 (National Park) and
List-II  (Important Wildlife) and

select the correct answer with the
help of codes given below :

List-1 List-1I
(a) Gir national park (1) Elephant
(b) Ranthambore (i1) Indian Lion

(c¢) Kaziranga (iii) Tiger
(d) Bandipur (iv) One horned
Rhino

(e) Kanchenjunga (v) Musk deer
park

(1) a-v, b-iii, c-iv, d-ii, e-1
(2) a-ii, b-iii, c-iv, d-i, e-v
(3) a-ii, b-iii, c-v, d-iv, e-1
(4) a-iii, b-v, c-iv, d-ii, e-1

Which region of India shifting
cultivation is practiced ?

(1) North-Western region
(2) South-Eastern region
(3) North-Eastern region

(4) Southern region

Level-1/6101
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